Restar Expresiones Lineales (I)

10.

Simplifique cada expresion.

- -(9g-6) - 8(6g-2)

2(-5k - 1) - 3(-4k - 2)

7(-4q+1)-2(-q-1)

. 9(6v-4)-5(9v-6)

3(5g-4)-8(3g+4)

-6(-7r +7) - 7(-5r + 2)

7(-3f- 3) - 4(8f - 6)

9(-5c + 6) - 8(-5c- 2)

4(7w+7)-7(3w)

4(4q+2)-4(2q-1)
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Restar Expresiones Lineales (I) Respuestas

10.

Simplifique cada expresion.

- -(9g-6) - 8(6g-2)

-57g + 22

2(-5k-1) - 3(-4k - 2)
2k + 4

7(-4q+1)-2(-q-1)
-26q+9

. 9(6v-4)-5(9v-6)

9v -6

3(5g - 4) - 8(3g + 4)
9g - 44

-6(-7r +7) - 7(-5r + 2)
77r - 56

7(-3f-3)-4(8f-6)
-53f+3

9(-5c + 6) - 8(-5c- 2)
-5¢+ 70

4(7w+7)-7(3w)
7w + 28

4(4q+2)-4(2q-1)
8q+ 12
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